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Paradox

• Barber shaves all those who do not shave 
themselves. 

• Collection D includes all collections do not 
include themselves as elements. 

• Be careful when creating a defining 
property. 























• (b) a ∈ A, b ∈ B
• a, b ∈ A∪B;
• {a}, {a,b} are subsets of A∪B;
• {a}, {a,b} ∈P(A ∪B);
• {{a}, {a,b}} is subset of P(A ∪B);
• {{a}, {a,b}} ∈P( P(A ∪B))



• (c) (x,y) ∈ A×B, x ∈A and y ∈ B;
• since A ≦C,  x ∈C, likewise, y  ∈D;
• {x}, {x,y} ≦ C∪D
• {x}, {x,y} ∈P(C ∪D）

• {{x}, {x,y} } ≦ P(C ∪D）

• {{x}, {x,y} } ∈ P(P(C ∪D）)
• (x,y) ∈ P(P(C ∪D）)
• (x,y) ∈ C×D, by definition of C×D.
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